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A mathematician is a machine for turning coffee into theorems.

Assessment 9 Name:
Dusty Wilson
Math 220

Paul Erdés
. 1913 - 1996 (Hungarian mathematician
No work = no credit (Hung ician)

Non CAS Calculators allowed
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Warm-ups (1 pt each): Suppose & = 4 ] - Unit vector in the direction of @ :/_¢f /-

1.) (1 pt) Paraphrase the quote by Erdds (pronounced Air-Dersh). What was his point?
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2.) (4 pts) Determine if the vectors # = s and v = 5 are orthogonal. Explain.
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3.) (4 pts) Show that {| =5{,| 2 |,/1|} is an orthogonal basis for R’ and then express ¥ =| -2
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as a linear combination of the orthogonal basis.
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4.) (4 pts) Find the orthogonal projection of ¥ =|—1 | onto the subspace of R* with orthogonal
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5.) (4 pts) The vectors <| 8 |,| 7 |+ are abasis for subspace W. Use the Gram-Schmidt process
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to produce an orthop2rsed basis for .
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6.) (4 pts) Use the Gram-Schmidt process to produce an ortho%o #or)  basis for the column space
-\ 5 ¢
of matrix A=|- 2. -6 4
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